GIRRAWEEN HIGH SCHOOL

Year 11 MATHEMATICS May 2008
Task 2 Time; 90 mins
INSTRUCTIONS:

» Attempt all questions
 Write your answers on your own paper.
¢ All necessary working must be shown.
*» Marks will be deducted for careless or badly arranged work.
Question 1 (12 marks)
(a) Find correct to 3 decimal places:
(1) sin 39°25° (i) tan 218°43’
(b) Find & correct to the nearest minute:
(1) cosd =0.827 (ii) tand =1.056

(c) The angle of elevation of a tower is 39°44° when measured at a point

100m from its base. Find the height of the tower, correct to 1 decimal place.

(d) A plane flies north from Sydney for 560 km, then turns and flies west for
390 km. What is its bearing from Sydney, to the nearest degree.

(e) If sinf = % and tané < 0, find the exact value of cos 0 and tan 6.

Question 2 (28 marks)
(2) Find the exact value of :

(1) sin 300° : (ii) cos 225° (111) tan (-150°)
(b) Solve for 0°< @ <360°

i) cosf = - (ii) tanf = ——— (iii) 4sin’0 =1
2

3
(iv) cos’@ =1-2sin’¢
(v) cos28 = 0.4684 (write answer to the nearest minute)
(c) Simplify:
() 2—2cos’0 (ii) sec’d —tan’0
(d) Sketch y=sinx, -360°< x < 360°
(e) Prove the following identity:

1~2sin’d = 2cos%9 -1
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Question 3 (14 marks)

(a) Find the value of / correct to one decimal place.

(b) Find
(i) @ to the nearest minute.

(11) the area of AABC (comrect to one decimal place)

8.1 em 5.9¢m
7.3 cm
(c)
A
27° 48°
D 100 m C B
] [a]
() Show that 4C = 2208n27°
sm?21°

(i1) Calculate the length of 4B correct to one decimal place.
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Question 4 ( 18 marks)

(a) Solve:
(i) ly-8=20 (ii) 17x - 3| =4x ~ 5] 6
(b) Solve and graph on a number line:  [3x+2|> 4 3
(c) Solve the quadratic inequality: 2x*—13x—7 <0 3
(d) Solve:
Q) 144 =12 (i0) (-LJ 1 6
16 2
Question 5 (18 marks)
(a) Find the centre and radius of the circle
D x+2Y+(y-3’=144 2
(i) x+y’-6x+3y-1=0 4

(b) If f(x) = x°+1, find

@ f(-2) (if) (0) (iif) S (Vx) 3
(c) Given f(x)= il . Tind f(l] in the simplest form. 3
X— x
(d) Determine whether the following curves are functions or not. Indicate
your answer by writing either yes or no. 6
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Question 6 (12 marks)

(a) Given f(x)= El%g , f(Oy=3 and f(2)=-3.Find

the values of a and 5. 4

(b} A function is defined by the rule

4 x<-2
g(x)=<x -2<x<2
-x+6 x=22
Evaluate g(-3)+g()—g(4). 3

(c) Show that f(x)=x"—16x isan odd function. Hence find f(x)—-f(=x). 5

Question 7 { 26 marks)
(a) For cach of the following curves (), (8), () and (&)

1) Draw a neat sketch.
(i)  Name the type of curve

(ili)  State the domain and range.

(@) y=@x-1)"+1 (B) y=|x-3

() y=2" (8) y=—— 16
x+4

{(b) Find the domain of the following;:

@) y=+x-5 (i) y =+/64—x 4

(c) Sketch the following regions.
i x +y° <25 2

(i) x+y=0and y<1-x° 4
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Task 2, 2008 - Solukions
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(a) }qn" = 5
- 5. .
7 +b-+ - 1}( '7)&5*‘ ~ ’o)t 'I
o - frles 6319
— .4, ) @

bhese = & E'
(heese = E1745a=02

CO(‘Q&DC_H = lfg“;zf'?’

= 3L
_
Drc == (=+21)
= 2\
o
B |=® I
~ Sinal T dna
(o J\ﬁz (_5\')’*'2-“3
b = awa ®
Sin 2y

() sin4g® = P
H

P\ B - l}(_'ﬁw\ﬁi—gﬂ

SinzV

Q41" @

I




Q oestion 4 (g walksD

W)W 1y -gl=20
%__gl=_f}_‘c; ok} "(H'ﬁ)iz‘o
Ld._gf.zuo oY "'a{—f =20

(ﬂ ::’2_? o1 8 :4[2" @

(i) 172-3] = | 49c-57

Toe=3 = 4x-5 07 79‘“3"(‘”‘-5) '

—TDLf4..9L _ 3__5 oY 79&@3 :-;{_‘7(‘1‘},_

0= = O
RO,

-

d)) ]39L+7—| >4

3+
390 >2. ¢ 3 4_-—?,
x >E e oC L=
3

() 2x"— |3 -7 £0
Fadhorise  2a?1350 =1=0
(;x_’]) (ra4) =0

:){'.’:..—] o1 ‘gﬁ:"—l—.
2

N
P
/

N
me The awlﬂ
9 5T~ (30c =1 <O
CPW --__i._ LDL{-F]
>
Ad) 144" =12 ~
() =12
|27 =12
200 = | @
ge = _L
.
Cif)(i.)’” -+
i b 2. ,
9
-4 L -
aL
— % -
7 -2
4’—DQ = l @
4'_.




@u%konE’CW’WﬂMu)
@) b er) e (420" 144
()
Condre =(-2,3) yodius=Iv

() 9(L+67;60L+3‘d—| =0©

ot —bot +3“‘+3'~3 = |

o b 49 +—8%h38ﬁ%%fgl+ﬁ+gj

D (g )t £
Te ey z) - (1)

vt = (3, "2) ©
Toduius = I ok

(b) o =
Q) —S\—C—*L) - 62)2_-‘_\ ®
= 5
W
(i) £ @) (Vo)

= 9|

—

O
() 4(o) =\

i
(d) A Yes
D- Mo

B. Yed

E. LI@J

F-%eJ(D

§ueston b Ciz madks)

() T O) = 1% c L) = 1=
’ ’f 7 ar+b 7 )C b
Giiven ]CCO)“: 3
\_.[_2.:~ =2 2 b—; q’_,
b —_—
fa) = 12 - 1t
2a+b 200 +4
@LLU'UV\ FC'J_)=*_5
2 -3
21a+4
~3(2a+ =12
& —|2 =(L lﬂ’
a = -2¢
[
= 4

(b gt3d + gt - §(4)

o

= 4 +1-2

=3




() fou = w-un
temw = GO er)
= =2 o
= = (22— 1)
S
oo woam o dd. fucks

«F(7£5 — ’&C"?L) @
= jEOL) — (—* f-(m))

= FCIJ + ‘FC}L)

= 7 —(‘\-CJL)
e

Quethon 7T (26 wafhs)
et

G W),

\
’ U\\/ﬂ'-"‘")”'ﬂ
(LS

Ll,l)

page 7,
(2] T

() abs oo yabue M%
lpeas
ij {[) - Q}L 'Y'M-L L )

2. v alk real parmberd ‘(f]?_'jo

@ ()

_,__/i_

< . . . 3

(10 f‘"ﬂ““”“b k. aﬁgﬂk

() Do o ek wambess @
dl %y@@xméw,y>o

)

e M




Paﬂo_‘l

: T _/;:"\
W=
[.f SQL
| i
il’lr PR ? —>
|
. : ) @
1 X '
|

(W h)bd P efb s lc\

7
() 1) o &u_' TU»L mmbml oI "4

ool veak wdmbes ‘(jﬁo

do) W Y v

1C—5 29O

w s 2

'D o alt TCAMMBMJIQL > 5
(N

(i) | /7_;\\




